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Problem quickname: 6571

b

Worksheet

Calculate the result for each of the matrix cells.
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Calculate the result for each of the matrix cells.
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O + [ 19[4 [ 20| V] + T 9 377 63
13 34
54 21
3 24

3)

Calculate the result for each of the matrix cells.

) 4 T 36 [ 28 2t ] P[ + T2 7] 2
8 27
7 1

O+ T35 [ 30 [1w0] D[ - [T2]u]l-:2
14 41
9 32

4)

Calculate the result for each of the matrix cells.

)[4 o0 | 787 | =556 | 522
-186
123
-162
D) [ 758 | 357 | 422 | -547
-304
-425
80
- 639 | -322 | 780 | -562
242
-200
256
+ | 316 | 253 | -591 | -99
-96
-320
312

Good Luck!
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